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Question Number : 1 Question Id : 5915042266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Among the following, a quadrilateral in which diagonals are perpendicularly
bisecting each other is
& (Bod AN ﬁc;w ﬁé‘éﬁjéo Sletvelas :63'3}&}; PoXyd BIEI tﬂé}d%‘]ﬁﬁ(]
Options :
Square

23eDO(D0
1.v¥ -



Trapezium

QDeD02) e )230
2. %

Rectangle
) ABISEH0

3.

Parellelogram
. Q0SS Y230

Question Number : 2 Question Id : 5915042267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Among the following, a wrong statement 1s
& (Bod oBS° JBGE EKn S°Rb
Options :
If a number 1s divisible by ‘8°, then the number 1s also divisible by “4°.
2,800 5 ‘8" T B0 gPAOSDHES . €8 DO ‘4" Ted §3°03° DB00

2rAod2cDO
1. ®



If a number 1s divisible by ‘2 and 3°, then the number 1s also divisible by “6°.
2,8 QOS2 HBOM 3° OBTIZINOM gPRAOSDES . SHODS 6’ DSEre

QB )N0T 2rA0ICERN0D

2. %
If a number 1s divisible by ‘9’. then the number 1s also divisible by 3.
2,8 DO ‘9 DVBINOM FPROSDEE , SDOYWS 3° ed Jrta N3N0
erfAoddaacerod

3. %

If a number 1s divisible by “5°, then the number 1s also divisible by “8’.
2,8 DO ‘5" DIBAOM rROSDEE 0S8 e e DB N0
EARAOIRTATN VO IR'

4.

Question Number : 3 Question Id : 5915042268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The degree of a constant polynonual 1s
O 22537008 AW DO

Options :

1

1. #®

0

2. ¢



10

100

Question Number : 4 Question Id : 5915042269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The distance between the origin and point (-3.4) 1s
057> 2)0CNY) DBAW (-3.4) 20NN © N TS0
Options :

6

1. #

&

Question Number : 5 Question Id : 5915042270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. coma s s e 5 .
The product obtained by multiplying = with multiplicative mverse of — ~1s
Z50—2 TB0EY 4YSI53e00 HEFOTIHO 5 T e

Options :

25

s w49

75

Question Number : 6 Question Id : 5915042271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The rational form of 349 is
349 Bn¥) oS8BaH Erso
Options :
349

1. ®

34.99

2. ®



34.9999

s
h

4.

Question Number : 7 Question Id : 5915042272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What will be the compound 1interest, if Rs. 2000 1s mmvested for 2 years
at 10% per annum?

SIS 1DTE0 G, 2000 D DONSBITIR 10% S

2 50.00 EPE VIS 3 HESE DO e9%)a%?

Options :

. Rs.400
.« Rs.2420

, Rs420

Rs.2400

4, %

Question Number : 8 Question Id : 5915042273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The product of prime factors of 5500 1s
5500 A3NEY, (DT THETOTE DO

Options :

23 x52x11

1. %

2% %57 % 11
4

2‘ v

L 2% 5% % 11"

3.

L 2'x5% %11

4.

Question Number : 9 Question Id : 5915042274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3[0‘3’125 5 —
Options :

1. ® 0



sl

Question Number : 10 Question Id : 5915042275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If set A= {¢}, then the correct one among the following is
DDBA = {$}, WONIT'E: (Bod TBE* S

Options :
1. ® =4

4.9 ped

Question Number : 11 Question Id : 5915042276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The value of x in this figure is
)50 ¥ TNE) DN

Options :
270°

Question Number : 12 Question Id : 5915042277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Among the following, the curve that does not indicate imaginary roofs 1s
& Bod &S EYE Swrerod TrDoS0  SESw

Options :



#
QF
Lﬁ

it f

N, \_/'II

1. ¢
2. %
3. %

Question Number : 13 Question Id : 5915042278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The least prime number in two digit numbers 1s
o 6 ", o A
DO 0T HOPLEY @ed D) (DT DOYS

Options :

| % 71



Question Number : 14 Question Id : 5915042279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Among the following, an irrational number 1s
& Bod &S 28 E8B0% o8y

Options :

J10

1. v
/100
2. %
Y
3. %
210000
4. %

Question Number : 15 Question Id : 5915042280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The length, breadth and height of a cuboid are 20 cm, 15 em and 12 cm
respectively. How much of its volume will differ from that of a

cube with the side of 15 cm?

2,8 B8 085550 T30, TN INBAINNER &1 SHEIMT 20 0.0,

15 0.0 0BG 12 0.a0. 290N e AB505530 T30E) SN BIIEdW.
15 R0.00 gHhzdm EOBDS 50050 ABNEY NINORATEIANE 5T DOEH?

Options :

300 e

250 cnr
3

225 em

325cnr’

Question Number : 16 Question Id : 5915042281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If tan A = cot B, then the correct one among the following is
tan A = cot Boonds®, & (808 &S $8Fode



Options :

A=B=45°
1. ¢

A > B >45°
2. %

A <B <45°

3. %

AzB#45°

4, %

Question Number : 17 Question Id : 5915042282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Among the following, a false statement 1s
& (Bod &S 380 T°E50

Options :

Every square 1s a thombus

(€3 LIRS0 2,8 DeNTIERR Y230 (T0DV).
1. ®

Only one pair of opposite sides are parallel m trapezium.

560 ©02) e N20S (BRfcho ) 2.8 2365 S 22 en
IR eITPOBBOMT BOETON

2. ®



Two pairs of opposite sides are parallel in parallelogram

DATPOBE DB IROS BOCD 23650 IS 2D2TEN DSTOSBOTT SOEFOW.
3. %

Every parallelogram is a rectangle.

(D€ DSOS IR0 2.8 AP SN0,
4.9

Question Number : 18 Question Id : 5915042283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The median of the given data 5, 7, 8, 10,13,18, 20, 23 1s
Serodo S, 7, 8, 10,13,18, 20, 23 Bw¥) HogsiEo Dend

Options :

L« 10

113

2.¥

L. 105

Question Number : 19 Question Id : 5915042284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

If x =2, y=41s a solution of equation 3x + ay = 10. then the value of ‘a’ is
3X +ay = 10 QaBSTIE x =2, y=4 2.8 A0 WO, ‘@’ DD

Options :
1. % 0

Question Number : 20 Question Id : 5915042285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The lengths of parallel sides of a trapezium are 10 cm and Scm.
If the distance between the parallel sides 1s Scm, then the area of trapezium 1s
2,8 D0©02) THEBB Y2206, DAT0HS 252370 SPChsHEN 10 0.4, SHBAM
8 0.0,  EDXP05S 2302370 509§ S0 5 0.0D. GOTY, EDNO
e )220 ABNEL ST SO

Options :

45 ent
1. ¢



45 em
2. ®

90 e’

3. %

90 cm

4, %

Question Number : 21 Question Id : 5915042286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which type of force 1s used in ‘drawing water from a well” using rope

and a bucket?

28¢5, BN PA0D P K08 DBY §HLD GITFRHE Dod?
Options :

Normal force
@foon oo

Magnetic force
©0HT0E DO

Muscular torce
o
- X088 oo



Electrostatic force
%géé 00

4, %

Question Number : 22 Question Id : 5915042287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
C 5% 2 =
<« This symbol indicates
(o
& D50 ordoHdd

Options :

PS
1. %

HDPE
. LDPE

Pp

Question Number : 23 Question Id : 5915042288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The property of drawing a material into thin wires 1s
SIS Ssenre S8 Ko émﬂg cﬁdéo

Options :

Malleability
Fe08He

1. ®

Ductility
S8BabHes

2. ¥

Conductivity

TeTEeS
3. %

Sonority
e Hoe0

4, %

Question Number : 24 Question Id : 5915042289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s used to correct vision defect -‘myopia’?
Bod RS (3 R B°A S8t BB 8?7



Options :

Concave lens
ersd Lé¥o

1. ®

Convex lens

LHogesed B&%o
2. ¢

Concave mirror

EFSB cSén]aao
3. %

Convex lllil'l'{:l I
%08 & 603530

4, %

Question Number : 25 Question Id : 5915042290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘Electro plating’ 1s possible through
‘a@@; 280k (Electro plating) &0 oeroe ARss0H&0s
Options :
Distillation

in
- nJNCSZéD



Filtration
Q5888

2. ®

Chromatography
E DS 15®

Electrolysis

» &&55 ZAes0

Question Number : 26 Question Id : 5915042291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not a correct statement?
Bod RS° 38570 EKn D6?

Options :

Two positive charges repel
BoX &% eIz %8 030%r0e70w

1. ®

Two negative charges repel

Bo owee wIToeD DBB0HB 0P
2. ®



Positive and negative charge attract
owee B B8 eZzeen @ﬁaﬂozﬁaﬁ:oéym

Positive and negative charges repel

20088 L0058 wSTeen EB.0HH0ETOD
4.9 ==

Question Number : 27 Question Id : 5915042292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the eclipse in which the moon completely covers the sun
SO D8l Trore edB0Nd (K15l dSotrd?
Options :
Total solar eclipse
- éo‘@?g "mé& (¥ees0

Annular eclipse
Sodsrsed gy (Kee0

Partial solar eclipse
EE s (ere0



Hybrid eclipse
D(FD gy (Kees0

4. %

Question Number : 28 Question Id : 5915042293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a base 1n nature?
Bob T8E° 8 SR LOALH D&

Options :

Lemon juice

D Bdo

1. ®

Lime water
o o
v YD A

Tomato juice
e 8l0
3. %
Curd
2B

4, %



Question Number : 29 Question Id : 5915042294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Doctors do not use this thermometer to measure the temperature of a human body
S0 $68 LEFHESH oo ooElh ed@BrRoSR $oiued

Options :

Clinical thermometer
ﬁ:ﬁéﬁ??ﬂ

Digital thermometer
&2eS cﬁuﬁé@)éag

Thermistor thermometer

66&;}5 ém&@)bg

Si1x’s maximum minimum thermometer

Dy hnn KTV W
» DEY BOR 18R cﬁcﬂgﬁbbg

Question Number : 30 Question Id : 5915042295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The device which converts chemical energy into electrical energy 1s
Sarahd S8R DS e Sty HOEEE



Options :
Cell
P

| R0

Transformer

CaSiEvie)s!

2. ®

Electric motor
. acs:g}ai Se56

3

Transistor
(E=RR8

4, %

Question Number : 31 Question Id : 5915042296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The hormone that controls the dilation of pupil and increases heart
rate 1s secreted from

ZoBard agarl) 200 FHEaH &)osss duoho@oBD FEYS & Ko
Hood (XdoBotheod ?

Options :



Adrenal gland
) o85S (Kod

1. %

Pituitary gland
$H0%0R (508

2. 8

Pancreas
&5%00
[ ]

3. %

Thyroid
goeand (Kod

Question Number : 32 Question Id : 5915042297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect pair from the following
808 BS° JBR a2 HBoN0s

Options :

Tuberculosis-Bacteria
B0 -ergScie

1. ®



Malaria-Plasmodium
L8B0sr- 5 Bc%0

Dengue-virus
Zlelaviitasiebs

Cholera-virus
Eooe - I8

Question Number : 33 Question Id : 5915042298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Excessive plant growth was observed in a river due to industrial waste that
effected the aquatic life by the depletion of oxygen 1s known as
arB(TELE 55503&: 8o 2.X $68° 5135{;@ 280 vdBorr KoloBdnéod,
DBS® wBS Edosto Hu medbo HrdsDss. SO3

Options :

Biomagnification

DBHEAHTAS

1. ®

Biodegradation
DBrEREAS



Sedimentation

ﬁ_-f
. E}éﬁ_ﬂo

Eutrophication
A% HERS

4. v

Question Number : 34 Question Id : 5915042299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is incorrect sentence?
808 &BS° $8°0 Sper  avistelnteln

Options :

Plants adapt themselves to the different conditions in nature in different ways.
SnE)en @’Jﬁg@éﬁ DOE ﬁﬁ%é&ﬂﬁ @R Y vdiroTroRd bé&iﬁ:ﬁnoﬁﬁw

Along with transpiration leaves help in the preparation of food.
FEEB)E08° artn whHen vFbo Sairdd SHFehdEEron

The crops grown in winter season are called kharif crops. It starts from

October to January.

y Leroreod® Hot Dotredn PBD Hoten ®oEr. 38 @%mg D008 2558 HBE dotrown
3. ¢



Venation acts as a skeleton of the leaf and give it a specific shape.

&30 TydNo v Bws) ©f Doudo HT B 35008, w8 083 ©oPoeR) SRod
4. %

Question Number : 35 Question Id : 5915042300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The method of killing of silkworm larva in steam oven 1s called
Hep HEK oo %S} 5.3086° 608 SodwR)

Options :
Steaming
5 800R

. ® @
Stiffling
- Fg) ﬁ

v 8990
Stirring
2Boh

3 & £J
Reeling

4% 890R

Question Number : 36 Question Id : 5915042301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The part which 1s not present in the retina of the eye
Z08 Bn¥) JEH500E° &oBls

Options :

Rod cell

Bod Beso

Macula
s
33\..::5@“

Blind spot
@0 cﬁiﬁaﬁé

Cornea

i"og?ébe:o
4. &

Question Number : 37 Question Id : 5915042302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of sperm passage in male reproductive system
DBR (DEREE &656%3655 HE Les [BSreeo BwE) B (ESrQy HBoHod

Options :



Testis—Epididymis — vasa efferentia — Vas deferens—
Ejaculatory duct— urethra
Swapen — REEHD — HETREn— BHBEaeirlen—

Sl TFo — ([HRBSw

Seminiferous tubules — vasa efferentia —Epididymis—
Vas deferens— Ejaculatory duct — urethra
%‘of’&@ojcs" TPBen —D(ETPEen — ADHEED —DBETeIrEEen—

Qe F¥o— (B D8E»
2. ¥

Testis — vasa efferentia — Vas deferens— Epididymis —
Ejaculatory duct — urethra
Soapen —HETRe —HETirlen— JDAEHD —

3ol TFo— ([Fdsw

Seminiferous tubules —Epididymis — vasa efferentia — Vas deferens —
Ejaculatory duct — urethra
BHE S TRBen — IHEBHT —B(BTe@Ben —BEaeirEen

. oL F¥o— BESw
4.

Question Number : 38 Question Id : 5915042303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which blood vessels carry oxygenated blood to left atrium of the heart?
D BE TeEren oG BNY) B 85D elesd Jird SRy onzow ?
Options :
pulmonary arteries
3D & odoen

1. #®

pulmonary veins
, o DRI Bew

renal arteries
o
. ée)‘-‘% Sodoen

superior and mferior vena cava
4 o
&85, @&@J&Jém

4. %

Question Number : 39 Question Id : 5915042304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the non-carnivorous plant from the following -
800 TAS® STOTIHE Tok) SO

Options :



Bryophyllum
v 2&Brdo
Drosera
& Te

Nepenthes
ISheleln 1)

Utricularia
(BB

Question Number : 40 Question Id : 5915042305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which experiment 1s depicted in the following figure?
8o VoS O FB@rrRY Srddod?

Options :
Oxygen 1s evolved during photosynthesis
886 238y Do@rH(Bad 28RS efizs DHSerde

Sunlight 1s necessary for photosynthesis
B8ea 23y DoTrH(BADD o8 ©SHES

Carbon dioxide 1s necessary for photosynthesis
88es 23y SoBrRBHE’ )] B eB)F edHBS

3.



Starch 1s formed during photosynthesis
88e a3y SoBrK(Bad &° 208 Slogels SleptaSTY

4. %

Question Number : 41 Question Id : 5915042306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The colour used to show the lands suitable for agriculture in the map 1s
D08 HHFeHE @RS Grdwed hoswl8 ed@rACE Sok.
Options :
Yellow colour

- D) D) Bord

Light Red colour

: TS XD Bord
Brown colour
- Fed0 Bois

White colour
SBena) Boid



Question Number : 42 Question Id : 5915042307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Famous valleys and summer resorts are in the following range:
S 0o, I3 HEB (Frosren & Bod (BBRSE° emzow:

Options :

Lesser Himalayas

v D&y Srdorediren

Purvanchal mountains
SFPT0BS HceEren

Greater Himalayas
&S Srdrodiren

Outer Himalayas
235 ST e iren

Question Number : 43 Question Id : 5915042308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



This state does not have Tungabhadra river basin
Bod RE° HoXYTHs HBTHFE (@roso B oo

Options :

Karnataka

Eoees
1. % =

Telangana

BOOTTE
2. ®

Andhra Pradesh
808 (DBS

3. %

Kerala
Elot]

4.

Question Number : 44 Question Id : 5915042309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

This 1s an example for second order landforms
Bosd BB grdebrarod Gursrdn

Options :



Continents

| SOTEeD

Plains
SOLT°T°ED
2. ¢

Vallevs
§ & aden

3.

Delta
aer
4, % =

Question Number : 45 Question Id : 5915042310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Forests located m the nud latitudinal coastal region are
Dy ©groTR &5 |rosred® HBR odHen

Options :

Temperate ever green forests
JSEAEY S8 508 ofHen

1.¢¥



Temperate Deciduous forests
. ‘éé}%&ﬁg (E1=S) o°g) @EHen
Tropical evergreen forests
65?’9 Hoose Vs 8¢ EHen
% =]

3.

Tropical Deciduous forests

63 Hoke e To8) @S
4 %

Question Number : 46 Question Id : 5915042311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The dynasty that mtroduced the Nayankara system
FCH0ES Do) B3 DES Traz Hodo
Options :
Mughals
| w 0fenen

Kakatiyas



Cholas
- S%hen

Asif Jahi
L ©HD aeimen

Question Number : 47 Question Id : 5915042312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Arrange the following in chronological order
& Bod T solEdrivrdo vg)od

1. Civil Disobedience Movement
6“55520?{132-6 &cﬁg}a"’no

11. Khilafat agitation
DoiE wollEd

111. Chauri Chaura incident
T8 To° HS050e8

1v. Partition of Bengal
Jorrd ivesd
Options :

1, 11, 111, 1V
1. %



v, 11, 11, 1
2. ® '

1V, 11, 111, 1

1111, 1V, 11
4, %

Question Number : 48 Question Id : 5915042313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The argument, “in order to get complete equality private property and common
enjoyment of the land and its fruits should be abolished™ was put forth by
“DenIdd ‘E’éa‘:}%é;o @E@;\ ?1}1::;0@?0& FBoTO08 a‘:,ggﬁé sl 66&3% S8, o=
SDERED &é}é&m 0000l oD ssé;g

Options :

Babeuf

B0
1. ¢ %

Thomas Moore
el Qb

2. ®



Samt Simon
., Pa0oéS DS

Fredric Engels
L (PEBE QoRY)

Question Number : 49 Question Id : 5915042314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

This 1s not a Mahajanapada
HosPedHSs0 =06
Options :

Kosala
&5%e

1. %
Magadha
5 % OB

Gandhara
Hoed

3. %



Kalinga
%
w £2on

Question Number : 50 Question Id : 5915042315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

This 1s the result of “Enabling Act’
J3oR cﬁﬁgﬁs Sleflatila
Options :
Dictatorship in Italy
5008° duhod)&o

Dictatorship in Germany
& T
- eac’éméﬁ QA%0&)&0
End of Monarchy in Russia
. Bargd® oeiibEo wodo
The League of Nations

TP aTeoTee DN
4, %

Question Number : 51 Question Id : 5915042316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This 1s 1n concurrent list
& (Bod 70&° 6398 =dsed JookodS ©odo

Options :
Irrigation
| x RO08
Electricity
DeSogey

2.¢¥

Telephone system
L % BORS
Health Care

S mden
4. % =9

Question Number : 52 Question Id : 5915042317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

This 1s not the main demand of the people during the Assom Movement
wfo &3655&530655 Bese (KBS %88 =008

Options :



The local people should be given greater preference in employment
&ardHSE® %c;?&ﬁ Do ¥ @ eeks addo

1. ®

The resources should be used for the benetfit of the locals
Hdte %5335 (Pee (HRrado 8580 HOErA0SS0

2. ®

Treating Assom as an internal colony
o300 ‘wodPE Hod (Frodore’ HdKBoBNEo

3. ¢

The “‘outsiders’ should be removed

L x ‘22058 aﬁ'ﬁgé}’ EORoSE0

Question Number : 53 Question Id : 5915042318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The articles related to the formation, powers and the functions of the

Election Commission are from
6333&_&&: QD050 Qo=)es0, w8 Qe B0 Dﬂae,jori @gﬁﬁa

Options :

Articles 14 to 17
@gﬁaf;] 14 %ol 17 5%

1. ®



Articles 370 to 375
@gﬁeﬁ 370 %08 375 8%

Articles 356 to 360
@gﬁeﬁj 356 %08 360 8%

Articles 324 to 329

@85S 324 Lol 329 BB
4.4 %

Question Number : 54 Question Id : 5915042319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
During the First Year Plan priority was given to
0SB HoSHB|HerdE 528 (@Soass AYod
Options :

Industries
- HBES0

Agriculture
HdrcHo

2.¢¥



Railways

Lo B

Civil aviation
§ a8 QErL5=H80

4.

Question Number : 55 Question Id : 5915042320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect statement in the following:
& (Bod TE° &) TR HBoBos -

Options :

The police 1s not a part of judiciary

. DD a:gdﬁ:-ﬁﬁajeﬁﬁ eN0 58D

To get bail, certain sureties has to be given in the court
BowS sroBeel8 ag@%;ﬁoéﬁ B Sedven 3T%d

2. ®

Session’s court hears civil cases

4N 5 206 Shed Hmeiod
3.¢



In the Police station, Sub Inspector 1s the SHO
DO YRIIE® 35 aSYE® B354 ( S H.O)

4. %

Question Number : 56 Question Id : 5915042321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Under Elllplﬂ]ﬂllﬁll’[ 1miears
o) Gard Ve

Options :

Less number of people working in agriculture than required
BrdrcHoS® ©BIEDE 7R KoB SLS Hod HO Jasne

People are apparently working but all of them are mode to work less

than their potential
©o&dB HO BRK)EN Gotnod SR B eogso DEH HO EBEE b0

More number of people working m agriculture than required
S coS® ©dIEHD TREE LS Hod BTk

All are fully employed as per their potential
©0t508 J8 FEYo HED BAF e



Question Number : 57 Question Id : 5915042322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The recommended food intake in Kilocalories per day for Urban
and rural areas respectively 1s
&es BB ((8es (Erozred’ b)) BondE af) B 808 Hebs eltdo
E&trerbod® $HIe
Options :
2100, 2400 kilocalories
2100, 2400 &8° eeben

2400, 2100 kilocalories
2400, 2100 & eer8en

2. 8

1624, 1900 kilocalories
1624, 1900 &&*eoben

2143.2521 kilocalories
2143, 2521 &68° coben

4. %

Question Number : 58 Question Id : 5915042323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



This 1s not included 1n goods and services tax
530S DHYS° BER 5P

Options :

Water purifier
ABR $HBHBT aholgo

Diesel
, v 828

LED bulbs
LED 2ey)en

3. %

Fruit Juicer
Hog Bren &2 cdholgo

4, %

Question Number : 59 Question Id : 5915042324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Size of land holding of small farmer 1 India (2010-2011) 1s
8 B¥0&° (2010-2011)&° QR =% Bheod &) 5 HBKre0
Options :

5.1to 10 Acres
5.1 %5H0é 10 oZoeen

1. %



2.6 to 5 Acres
2.0 508 5 d¥oeen

Upto 2.5 Acres
2.5 d¥oren HBH

More than 25 Acres
25 Q¥oren 6)"‘*’..-3&55

Question Number : 60 Question Id : 5915042325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The right to pollution free water and air for full enjoyment of life comes under the
BB 20e°Q) wFBoswd cendly 88 QB HoBASH O Fod FL) oyelat
©HESe Aod

Options :

Article 20
205 588

1. %

Article 21
- 215 obHEde



Article 24

245 ©sdn
3. %
Article 25
258 0bH¥b,m
4, ®
Teaching Aptitude
Section Id : 59150477
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 59150492
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5915042326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What are the three components of the educational process
DT |HBOH S s ch) 90F°eD DWE3

Options :



education, teacher and books
DS, TS O, RSN

teacher. student and education

- Garrs OSNCH, Doeg 8, DS

direction. mnstruction and skill
&%, S, Byeaso

3. %

teaching, learning and practice
58 , @923550 , estden

Question Number : 62 Question Id : 5915042327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s the compulsory element of learning
292355 €850 18 OV RE DO
Options :
ability to read

e DS e



bright mind
LB DD

intelligence
. D&

mquisitiveness
4 v NEFTOO0

Question Number : 63 Question Id : 5915042328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The reason to prefer women teachers at primary level 1s
B B8E° Hrded &s%ngcﬁnwm Qe noBEos® @f'q:v@;ééa

3308 Ko B0
Options :

they teach with patience
& £.258° 5ot



they help students overcome ‘separation anxiety’ of being
away from their mother
DTS EEN 55 ) DO SO G7) 0D a5 S0ee8 &

y SOOI RS DO DCE D
2.

women teach better than men
LN DO ) KT SHFH

3. %

they do not scold students
520 DTS D SNOBDOTHH

4. %

Question Number : 64 Question Id : 5915042329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should have
Gy OED 8D ocidOVON

Options :
good physique
@O B0

1. #®

expertise i ICT
ICT &S @°§Jea,5c:



competencies and skills i teaching

. ST DTS €0, THETS €
3.

ralues

NN
4. %

Question Number : 65 Question Id : 5915042330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A teacher 1s self-confident when there 1s
ﬁ&%cﬁné} @éé&ﬁﬂ;&?&& DD Yo EOR G0t
Options :

authority on subject

FErodo D DenReTD
|« o a-= (4]

social with all

- 2©90S8& EendHffencddo EDRST

attractive personality
@330 fie r8s6% 50



influential

(D2TDEHO TONHOI D
4. %

Question Number : 66 Question Id : 5915042331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teachers become popular among students, when they
DT°§ @@eﬁié, Ga)G°S OO o)) € 23S rotherd

Options :

develop mtimacy with them
FOS DT G519 ¢

take extra classes
SO TT°EN oI €

award good grades
09 Beden ad$HE

help them solve their problems
8 5&55@& @)6&60&5{’ J5B0%H0 BHEHE

Question Number : 67 Question Id : 5915042332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I choose teaching profession because
3% 6aread HED JoHE S, b0

Options :

Teaching 1s an easy work

. S TR DO

I can have ample time to look after other works
2658 HADEN WEDETRIET S0 HoDONO GOENOE

I respect teaching
S0 IS TED S

I have passion for teaching

v T 585 dE ETEE‘.'F;’PD &0tnod

Question Number : 68 Question Id : 5915042333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The success of a teacher 1s indicated through his / her
HATRAD [ G A0 RO T & SO° APDOTIIDEE O

Options :



students achievement
DTTE DO OB D

good traits/personality

. 20833 8 s7ren / 03r8s¢eb 50

quality teaching

- eared 8 &5°¢5eS

good character

0D 20
4. %

Question Number : 69 Question Id : 5915042334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What 1s most mmportant while writing on blackboard
SO 20 D (FPEIN)) ¢ DA DBVY & VWSO

Options :
neat writing
LT (oo

legibility in writing

v Q) O [SPa%ed0



writing in big letters
. €95 TPe QM (°chéoo
3.
writing n small letters
@85 TPeN DAY ([Eeadéso

Question Number : 70 Question Id : 5915042335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A muld response of the teacher to the student distupting others 1s
QAN YDY0O VW A3 8 D, G ey AN @BODE (HBHY0BS 9

Options :

detention
ﬂ}é:jo BodBo

withdrawal of privileges

B85 FBoged &ddorsoSE0

2. ®
warning

*
Ly THOE



suspension from class
$BKB $08) S0k Bckoe

4. %

Question Number : 71 Question Id : 5915042336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The learning which 1s a result of drawing inference in a class by the student 1s
B5HE HOS ATEe HABOT s 8 20 92555550

Options :

creating

DYt

remembering
208 B T

applying
DA A0 E

analyzing

4 Qéul{}@ﬁ)

Question Number : 72 Question Id : 5915042337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

National Talent Search Exam 1s conducted by
22300 EFB0E D) HBE JBLIPoTH THD

Options :

, UGC
., NCERT

AICTE

3. % 7

UPSC

4, %

Question Number : 73 Question Id : 5915042338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What mitial step you would take to handle eve teasing m your class ?
SNBSS BBOR < WOEHTIE Y SNFT Scsed g ?
Options :
counsel the trouble making boys

, ©R0 ear) oo 2525 ¢S TOWE
1.

warn the girls parents

| 8T 00 B0 O e )80H0
2.



obtain a written complaint

§ (265 S8 S50 e9DTBRHO 305730
3.

take to Principal’s notice
L« QTS Sy8 SNTFE0

Question Number : 74 Question Id : 5915042339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an acceptable method ?
BoB TS DO 05 BN DTFIS0 ?
Options :

spare the rod or spoil the child
B0 TR BT VOO TEHTEY

spare the rod and spoil the child
BHo TBE DB VOO TEFTEY

2. 8

bend the tree while it 1s young
SNELT GNDIB SOt

3. %



practice makes everybody perfect
3258582 (D63 2,82.88 At N0 S

4.9

Question Number : 75 Question Id : 5915042340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Special education 1s meant for
B8 Dy DHTBD
Options :
normal children
PO OO

poor children
26 DO

2. ®

rich children
A8 OB
3. ®
exceptional children

. D38 2308 DOy
4. ¢ e o

Question Number : 76 Question Id : 5915042341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NEP 2020 stands for
NEP 2020 e
Options :

Nation Education Policy 2020

e DAS A BAS e 2020

Nation Educational Policy 2020
Lk S0 DB SASS e 2020

National Education Policy 2020
- TANSO A TAS are> 2020

National Educational Programme 2020
FVAND DS BADSO (BFreS 2020

Question Number : 77 Question Id : 5915042342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The major responsibility of the teacher 1s to
s NG D)) 2 §ed

Options :



evaluate the school administration
ST OIS Fers 080 TAVLIO

1. #®

cooperate with other teachers
QBE G ANOS HIFEB0HE0

transmit knowledge of subject matter
A0 DETI) DESIANE

lead and guide his class group

505 53553 QDeNTHIE) STPSCIB86 20 & SNOCVEY SESHE
4.«

Question Number : 78 Question Id : 5915042343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The most important task to be accomplished by a teacher is to
Earg SO0 APHOT @& DD HO

Options :
maintain discipline in class
BEHBS’ $503 8 £2 re30He0

1. #®



conduct examinations and give feedback
HOE 0 G0N , DO Qe £C80

make students prepare assignments
D DS 9VT06D 505 BDON0IE0

develop skills of learning how to learn

) eI 9255V0TTE) BT D)D) VOO OTIE0
4,

Question Number : 79 Question Id : 5915042344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Teacher 1s referred as ‘Friend, Philosopher and Guide’ because
ool P8 O3 YY), 886 6360 3OS 806’ T §AOITTE, DOCHESM

Options :

he transmuts the high value of humanity to the students
B80S DT DS’ €509 €6 IO DENIEID HOED 0D Japdd

1. ®

he plays all vital roles i the context of society

B0HY DO0NTRE D0DO0EO0D DA (DT a5 AN
2.¢



he 1s a great patriot
©oHS ) T¥ 55

he 1s a great reformer of the society

4 % BB D) SO NSfererXe]

Question Number : 80 Question Id : 5915042345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To develop cooperation and team spirit among students, which activities
do you propose ?
DEs DS DTG , 23 A7) 8 DOTFOAOTIETIE, DY & SEEBSTeN
(DT ETsY
Options :
Debate
PR AR eleloEalel)

Project work
W f’j - WO
v PSEISRTNPSEN
QuU1Z
(T S

3. %



Art

4% 59

General English
Section Id : 59150478
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 59150493
Question Shuffling Allowed : Yes

Question Id : 5915042346 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (81 to 85)



Read the passage carefully and answer the questions that follow:

Whatever the Constitution may or may not provide, the welfare of the country
will depend upon the way in which the country is administered. That waill
depend upon the men who admuinister it. If the people who are elected, are
capable and men of character and integrity, they would be able to make the best
even of a defective Constitution. If they are lacking in these, the Constitution
cannot help the country. After all, a Constitution like a machine 1s a lifeless
thing. It acquires life because of the men who control it and operate it, and India
needs today nothing more than a set of honest men who will have the mterest of

the country before them.

Sub questions

Question Number : 81 Question Id : 5915042347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The passage 1s mainly about
Options :

the Constitution



administrative reforms

welfare of the country
3. %

quality of leaders
4.9

Question Number : 82 Question Id : 5915042348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the passage, which of the following statements 1s true?

Options :
The Indian Constitution 1s defective.
1. ®

i} The progress of a country depends on 1ts Constitution.
2.

. Good leaders can compensate for the defects i the Constitution.
3. ¥

Great leaders don’t need a Constitution.
4. %

Question Number : 83 Question Id : 5915042349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
According to the passage, which of the following statements 1s untrue?
Options :
. India needs a Constitution free from all defects.
1.

A Constitution by itself cannot ensure the welfare of the country.
2. %

LA Constitution is only as good as those who administer it.
3.

§ India needs leaders with capability, honesty, and integrity.
4.

Question Number : 84 Question Id : 5915042350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the passage, the welfare of the country ultimately depends upon
Options :

the Constitution

the administration of the Constitution

the quality of the people who administer the Constitution
3.¢



the quantity of the people who administer the Constitution

Question Number : 85 Question Id : 5915042351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
According to the passage, what India needs today, 1s a set of
Options :
articulate leaders

1. %

selfless leaders
2. ¢

charismatic leaders

aggressive leaders
4, ®

Sub-Section Number : 2
Sub-Section Id : 59150494
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 5915042352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the word with the correct spelling.



Options :
Changeable
R4 =

Keroscene
Carriculam
3. %

Finoil
4. %

Question Number : 87 Question Id : 5915042353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the word with the incorrect spelling.
Options :
Phenomenon

Embarrass
2. ®
Iiresistable

3.¢¥

Harass



Question Number : 88 Question Id : 5915042354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The synonym of ‘equivocal’ 1s

Options :

loud

1. %

impassioned
2. %

balanced

unclear

Question Number : 89 Question Id : 5915042355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The antonym of ‘dismal’ 1s

Options :
admit

1. %

,  trivial



remarkable
3.

pathetic
4, %

Question Number : 90 Question Id : 5915042356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To ‘cut your teeth’ (on something) means
Options :
to msult someone

1. %

, o gain experience
2. %

to mjure oneself
3. %

, o take back your words
4.

Question Number : 91 Question Id : 5915042357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A group of owls 1s called

Options :



a colonv
1. % J

, » aparhament

a collective

dll army

Question Number : 92 Question Id : 5915042358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill i the blank with the appropriate word.
I liked the half of the film.

Options :

later
1. %

letter

latter
W

litter
4. %



Question Number : 93 Question Id : 5915042359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill 1n the blank with the appropriate determiner.
The virus returned after year.

Options :

% dall

the

3.¢

S0111e

Question Number : 94 Question Id : 5915042360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the appropriate determiner.
I can speak Hindi, but not very fluently.

Options :
little



. little

much

, » afew

Question Number : 95 Question Id : 5915042361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Fill m the blank with the appropriate preposition.
The principal congratulated the students their success.

Options :

of

1. %

, « for

about

o1

Question Number : 96 Question Id : 5915042362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Fill in the blank with the appropriate prepositional phrase.
the lockdown, we all worked during the summer.

Options :

Instead of

In case of
, » Inspite of

In fact of
4. %

Question Number : 97 Question Id : 5915042363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the appropriate phrasal verb.
He when he failed the test.

Options :
- broke up

broke down
2.

, » Droke out



, » broke off

Question Number : 98 Question Id : 5915042364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the part of the sentence with an error.
The police will seize your vehicle if you will break the lockdown rules.

Options :
_ The police
1. %

will seize

if

3. %

W will break

Question Number : 99 Question Id : 5915042365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the part of the sentence with an error.
We disposed off all the junk last month.

Options :



L disposed

off

2.¥

the junk
23 -

, » last

Question Number : 100 Question Id : 5915042366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The word ‘bulls eye’ 1s associated with

Options :
., archery

- bullfighting

, » Daseball

billiards
4. %



General Knowledge and Educational Issues

Section Id : 59150479
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 59150495
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5915042367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who 1s the present Chief Justice of India (CIT) ?
Zobo Eﬁg BRE (Berd 0S8 D87

Options :

Shri1 Nuthalapati Venkata Ramana
o B Erdodd SJobe S

Shri Nara Vijaya Ramana
, % B O Duad e
Shri Ranjan Gogoi
- # SozS RPrron



Shri Sharad Arvind Bobde
B 88 08008 o33

4, %

Question Number : 102 Question Id : 5915042368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who received 51° Dadasaheb Phalke Award?
513 TrordPard 3°8) 9P (558 DHB0?

Options :

Vinod Khanna
. DSEE PR
Amitabh Bacchan
oD magS

Akkineni Nageswara Rao
@5335{} mﬁé&d N

Rajinikanth

s,
L Sesdsroe



Question Number : 103 Question Id : 5915042369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Right to freedom 1s guaranteed by Constitution of India under
& oregol ©eBSm 'ﬁ;:jaa 5008 ?

Options :
Article 17
. 178 658
Article 18
. 18 % 0pddes
Article 1
S £ wbX8e
Article 20

v 20% ©wb%se

Question Number : 104 Question Id : 5915042370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who 1s the present UN Secretary General?
2085 Treyp JE0B (D58 DB 28S?
Options :



Antonio Guterres

| G0V HBED
Ban Ki-moon

,w O & LS

Kofi Annan
. D o)

Adhanom Ghebreyesus
OPTD WBDOD

Question Number : 105 Question Id : 5915042371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who 1s the author of * Manohar Parrikar: Brilliant Mind , Sumple life?
BoFsE 055 * (DOH0ES o8, HOHS TP OH PIEID BDOSBIH?
Options :
Nitin Gadkari
|, Q85 58P
Nitin Anant Gokhale
28T @508 Fpd

2. ¥



Nitin Gupta
D8I Har

3. %

Nitish Kumar
DER, H57°6

4. %

Question Number : 106 Question Id : 5915042372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

India Ranks in World Economic Forums gender gap index 2021

(o ©Bx 880 ( World Economic Forum) (=80 88 S0
&%) Do VG F9E 2021 o

Options :

. 153
L 112

140

3.¢

Question Number : 107 Question Id : 5915042373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

World Health Day observed globally on
(©00F agRore (B0 @Eﬁr% &:Seén]éo 2HHHS &%
Options :

5™ January

23988 5

7 April

Lo QS T
7" May
2 7

5™ December
&oxnb 5

Question Number : 108 Question Id : 5915042374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Bombay Stock Exchange SENSEX 1s based on the performance of

how many companies
0B FE AFof JJF) erEHas Xomde Sogyg



Options :

s 50

, » 40

30

3. ¢

4, = 00

Question Number : 109 Question Id : 5915042375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Prime Minister of India Launched SWAMITVA scheme to provide
TEE BE (e Hool® (@°80DolS V. Sayg. 2.dM.0.£.0.9 (SWAMITVA )

DEo nioaﬁé mgﬁo:
Options :

Integrated Property validation solution for rural India
88 B (rives (Froded® (K 6l (BB HBaRTeR)
|, wobo S0

Integrated employment scheme for rural youth India
(roes GPES BE CWHSH I sard 8D)osKo



Intellectual Property Rights
&P Q038 FEpod 3o

3. ®

Intellectual skill India Initiate
) o8 s B¥0 &S nﬁ_@m:jﬂfo 8L B0 8%0

Question Number : 110 Question Id : 5915042376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pradhan Mantr1 Krishi Sinchayi Yojana (PMKSY) aims to
B Sold® HR VoD Erad Cwd) Sogy ©F0
Options :
Promotion of commercial organic production through certified

organic farming.
5%&3&5 oBODH LHRradh weoe ordey VoG 6B @FE)Erosto

1. ®

Introduces sustainable water conservation practise, among others.
2028 OB Do HREHD HIE DéEo
e e (] [

2.¥



Making agriculture more productive sustainable, remunerative
and climate resilient
ééﬁﬁ%ﬂdﬁ?@ Ho8oes &5@93655, %6@26, éé}ééoé@é H08Bn TrErddes

?geié%c_zﬁﬁcrﬁ SIchEo

Promotion of commercial crops with hybrid varieties
GrlOf Sorros® ardey Soted (Rfssso

Question Number : 111 Question Id : 5915042377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Bank of Financing Infrastructure and Development (NaBFID)
JADSS E]":,:}DE 5 po=Ryoh aag@ﬁag @08 BHeDI0os (3°598) (NaBFID) eb

Options :
Supports the development of long- term non- recourse

infrastructure financing
E:gasﬂi}ﬁ ¥BHo =R SO JSehoaroire @@562)&@: B @dﬂjﬁ}é}c&:

1. ¢

Supports the development of rural area project
(& (Fromrers® 0P Do 8850808
®

2.



Provides technical and financial knowledge to international

infrastructure start —ups only
@Détzgécﬁ} STOE Jeharcire 5 o) & $(830 FoSE HdasD

Elols! &me@ wodoS%0o
@ =

Provides Financial support for short term infrastructure projects
TOE SFTOE Jeharcire (@PRE0D ©0% JFabo wodonio

Question Number : 112 Question Id : 5915042378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Naba Barsha harvest testival celebrated in
T° 2T Hotd B58 Hoind eHBHI nﬂg{o

Options :

Tamil Nadu
SEH

1. #®

Kerala
Elot]

2. ®

Punjab

;¢ Q0D



Assom

\ ©%o

Question Number : 113 Question Id : 5915042379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
YUDH ABHYAS 20 1s an annual bilateral joint military exercise between
‘0Ors @@ﬁéS 20" o) & Bod Gz e 6 Socing ednd agahio

Options :

USA and China
Do HdA BT

USA and India
OO BN TFESTTO

2. ¢
USA and Russia
©DE= B éé{g

USA and Japan
DO B WAl



Question Number : 114 Question Id : 5915042380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which Country ranked Number one in Human Development Index 2020
SN @EJ&SQ):% 398 2020 [Hoedo Indd %5260 FB09P BIo

Options :
Switzerland
S leie]A
1. G oJ o M
Norway
- ;:ﬂﬂ?:::j'J
Netherland
ECSEFDEJ
3. ™
Germany
L Ed&fe

Question Number : 115 Question Id : 5915042381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Quad or Quadrilateral Security Dialogue nations are
o8 S srGeredS ';::ﬁ:vg}ae% gern ( Quad or Quadrilateral Security Dialogue)



Options :
India, US, Australia and Japan
cES B3E0, ©FBTe, 82D HBED =S

1. ¢

Brazil, Russia. China and India
BRS, Bars, B LB rdE B¥o

Pakistan, Bhutan, Srilanka and Bangladesh
FEPS, irers, [Beod Hbas moryﬁg

US, UK, Japan and Australia
OB, CIBE oKD, warS Lo (RDAD

Question Number : 116 Question Id : 5915042382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SWAYAM stands for Study Webs of Active Learning for Young Aspiring
IR, Bop. 2.8.2.0%0. ( SWAYAM) o 298 3) o «8S 880k 370 chof e)Boh

Options :

Module
Sredred
® o

1.



Merit
=06¢5

2. %
Mature
3 % 055

Minds
5}053

40 =

Question Number : 117 Question Id : 5915042383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Unified District Information System for Education- U-DISE Maintained
by National Informatics Centre, Govt. of India is a

JR28S a@m&&ﬁa o5, Bol a0y KEDKJE; 8&65&03 Sl DE &L?gg aéqjaéﬁs
SIS &chagﬁﬁS I8
Options :
Database about schools 1n India
PESBT0E° rSToe B0 ¥ GErDn

1.¢

Software for education in India
o8 BEos® %1'%35 L'y

2. ®



Examination system in India
. 88 Bo8® LBz dredo
Information of Educational institutions in India
88 BoS” &) Doz DoRe KHBoDE SErmeso

4, %

Question Number : 118 Question Id : 5915042384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per recommendation of the NEP-2020 which of the following

course will be discontinued ?
NEP-2020 (@zr8o & 5°%) 99DFEH06 ?
Options :
B.Ed
|« D38

M.Ed
) ® @O. 'a&"

M.Phil

=,
- 20. DS



Ph.D

&Horn. &

Question Number : 119 Question Id : 5915042385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The National Achievement Survey (NAS) 1s a representative sample
of schools from all districts in India aimed at understanding the status
of the education system 1s administered by

3556 ©H5DosS KT (NAS) 38 FéTed’ dogisss 18 Ko
oo DHEDED oFforr BIEV Ol Berw BT

B85 e B0 VBrgroBd

Options :

NCERT
&

l, -

, » NCTE

. « AICTE

, » UGC

Question Number : 120 Question Id : 5915042386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The Right of Children to Free and Compulsory Education Act or Right to

Education Act (RTE) 1s an Act of the Parliament of India enacted in
&O8 S0 VGG DD Jye 8 $60 Bue T8y S0 wend™s

3'3{313.53 ﬁo&éé{atﬁo

Options :

2009
L« 2010
L. 2011

4« 2012

Question Number : 121 Question Id : 5915042387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per the abbreviation of STEM education, the alphabet T stands for
AR.8.3.20 (STEM) dt58° ‘& eodre
Options :

Teaching
| % A



Tuition
a
p 0 ERS

Training
- &Qoh
Technology

Boned
4. ¢ co

Question Number : 122 Question Id : 5915042388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ICT stands for :
0.2.8 odrr
Options :
Information and Communication Technology

ﬂéﬁgﬁE ©o& ﬁénaﬁﬁ&S SR
1. v

Information Communication and Techniques

§ 51535&6’15 ®o& 5561}5&5&5 SERE)
2.



Information and Continuity Technology
. aﬁéﬁg&iﬁ ©0& Zo8Xyd BonoR
International Communication Technology
B0&0)R8S BLoRTaS Bone

Question Number : 123 Question Id : 5915042389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term that refers to the method of how teachers teach, in theory and

in practice 1s called as
2erposo & 8050 w58’ PR aseD 803 S8R Srdod HBSw

Options :
Psychology
HF Ve Q0
1. # =
Philosophy
Q[ "mg& 230080
@ =

Education Technology
D AFoSHES

3. ®



Pedagogy
L $°8% D8

Question Number : 124 Question Id : 5915042390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
National Institution for Transforming India, also known as NITI Aayog formed
in  which of the following year
IR.80.8.0 @R ( IXASS BNREDFRS HS (ErS)argof modadr NITI Aayog
&S SodEo

Options :

2016
2020
2014

2015

4.4 ©

Question Number : 125 Question Id : 5915042391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The Program for International Student Assessment (PISA) 1s an
international assessment that measures 15-year-old students'
reading, mathematics, and science literacy every
2.8.09.0. ( (@irro $6 BnowPISS SpBoes ©Joey -PISA)
oroe 15 Soddore Dogdie HBS Ko HBAw Ferdy (ke
Sdeege arobd; (DSBS FodnthEod.
BN QY SoSE oo 2.8 J8 Abereardd ?

Options :

three years
. Koortd SodEoren

l.
two years

BotH [0 éé@ﬂﬂm
2. %

Four years
TeerD JoNSTeen

alternative years
2.8 Jod&do ool HED £o&° Jod&Bo

Question Number : 126 Question Id : 5915042392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In STEM, which 1s a curriculum based on the idea of educating
students, “E” stands for:
STEM. &3 Nayie iy 5°003 errdsRd 86 “E” &R e Dohis:
Options :
Excellence
NESlef
1. ® ]
Education
2.« 05
Engineering
, » S0a080r0

Empowerment
L x TOSES

Question Number : 127 Question Id : 5915042393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Ministry of Human Resource Development 1s recently renamed as:
58S B30 ©PH)B HodLy Ty HrdS e



Options :
Ministry of Empowerment of Education
AL’y FHTEE Ho(BS: T

1. ®

Ministry of Educational Affairs
Dy HBdSForo Ho@& T

2. 8

Ministry of Education and Learning
. a’Jcﬁé Eablaloney) @55536 é:o@éé; ToYP

3.

Ministry of Education

L Doy oS Ty

Question Number : 128 Question Id : 5915042394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
As per NEP-2020, a teacher will be able to teach in mother
tongue or regional language up to Grade........
NEP-2020 (@se8o earpgointd dughe &ed) o5
O% rRS” F7B5 Tk SEK8 HOMHE

Options :



Grade 3
- 3D S5K8

Grade 4

4 5 S$85K68

Grade 5
58 $85K8

3. ¢

None of these
230 5D

4. %

Question Number : 129 Question Id : 5915042395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per NEP 2020 which of the following will be created as an apex
body for fostering a strong research culture and building research
capacity across higher education

NEP 2020 (@se80 68 DeEosBE nos H588°5% S0

B Qoes~E)E H88 8= %oésv%@_ (BFSRroherdh 68 ¥ 6 N

Options :



National Commussion Foundation
.- VXS BEAS FroaAS

Higher Commission Education
a8 BO0ES BBRS

National Research Foundation
[ SRS 8 FoBaS

3. ¥

National Accreditation Council
. 358S ©EEAS QS

4.

Question Number : 130 Question Id : 5915042396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Justice Verma Commission recommendations are pertaining to
2D S EDRS HardYenr B8 Jo20B0NBD
Options :
Teacher Education

v &aﬁq:gcﬁj L'y



Vocational Education
) v 08 8%

Elementary Education
e 3 =
. (ERHE DA

Higher Education
6 O

4

Computer Awareness

Section Id : 59150480
Section Number : 5

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 59150496
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 5915042397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which tool 1s used to compress the big file into small file?
28 26 D V) S ™ HBoSTRE TC &BESR0 J&?
Options :
Win Spread
L= D RE
Win Style
O S
2. —t2
Win Zip

Win Micro
S DE°

4, %

Question Number : 132 Question Id : 5915042398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s the default extension of Notepad
S’ SarE Bnd), Hercds 3B DB?

Options :

i} ( .doc)

1.



i} (_html)

2.

s o (x0)

. (i)

Question Number : 133 Question Id : 5915042399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A total of 1024 bits 1s
1024 De5) Swo

Options :

. 1GB

.. 1KB

1 TB

3. %

, v 1 MB

Question Number : 134 Question Id : 5915042400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What does SSL stand for?
SSL 309 $55°0:3008 ?
Options :
Secure Socket Layer
%38 FTe5 SaHE

System Socket Layer
DY FTE S8

Super user System Login

Q0 arresd P oA

3. %
Secure System Login
%00 DI AR

® ) (8]

Question Number : 135 Question Id : 5915042401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s a URL ?
URL o0& D ?

Options :



A computer Software Program
2.8 Bowrgead %@35 (&8 (e

A type of software for maintaining our names
58 DEH VefroD 2.8 BEDS P36

The address of a Document or “page” on the World Wide Web
- 568 386 35 p 2% B0 Soo R GwE) ©ED
An Acronym for Uniform Resources Locator
ADTAFD ORVYT 78686 $08HBETDo

Question Number : 136 Question Id : 5915042402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HTML i1s used to
HTML 308 63&rArs?
Options :

Plot graphs
5 () HoHTR8



Author Web Pages

35 oD 5D0SER8
2.

Translate one Language 1nto another
2.8 PR BOETE rRSA éc‘.’gﬁ:é}v SJeve e

3. %

Solve Equations
DoBBerred HOJBoBTRE

Question Number : 137 Question Id : 5915042403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What 1s a “Spider™?
D55 030 S ?
Options :
A Computer Virus
2.8 Soagrgtnd I
A program that Catalogs Web Sites
35 2D erderenre T (P

2. ¢



A hacker Who Breaks into Computer Systems
ol KB &8 (H3803T 2.8 eyt

An application for viewing Web Sites
IDe5) B SIrESerIEED 6 ¥ @ﬁaﬁa‘%

4. %

Question Number : 138 Question Id : 5915042404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Your computer has gradually slowed down. What's the most likely cause?
2.5 ﬁo‘{g%é.jg Boorr HodRodnelE Ko B wrerdes 5800
Options :
Overheating
NEnSre I& s=HEo S

1. ®

Your processor chip 1s just getting old
. B30 OB rSSHHY LR

Adware / Spyware 1s infecting your PC
PC 8 o835 / R )38 RPsdo S

3. ¢



Memory is overloaded
Shod @éﬁ&:ﬁo oddo Jg

4. %

Question Number : 139 Question Id : 5915042405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The term that 1s used to mstruct the computer to put the information
in specific Order numerically or alphabetically 1s called-

2.8 JdraroeR)) Sogrgd)Bore St eXbsre Hore 0B8Y (Boos® 3’5&3@
Zosegeal %o SE30308 GI@ETA0D HS0

Options :

Crop

o5

Report
St

Record

85°6

3 G

Sort
&0
%]

4.9



Question Number : 140 Question Id : 5915042406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Storage device which retains data even after power cut 1s known as
$B0tn Hfond B8Hard Sroe BErd 00D 6o3med8 §5,E0E HB580

Options :

Direct storage
GBE *Fof

— & &

Indirect Storage

g oS
=S Bof YOS

Volatile Storage
Sogd Fos

Non-Volatile Storage
S So8S os

Question Number : 141 Question Id : 5915042407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following Operating Systems reads and reacts in actual time ?
Bod 2 >8E O wd5oBoR AR oLt JHc5Hos® 368, BeJodoBKeRn?
Options :
Quick response System
&8 B XD

1. #®

Real Time system
BaHS B VYD

2.¥

Time Sharing System
Bo wdoh P®

Batch Processing System
D (FPRVON DR
[=¥]

Question Number : 142 Question Id : 5915042408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does not occur usually during the power -on-self-test(POST)
H58 - oS 28 8 (POST) 200808 80 ad FESE° D& DoEdosD

Options :



The Scan Disk utility begins to run
TR 87 BuBOB S o (FEogHHEod
1.V
The video card and video memory are tested
. DA '.:-:°§, DEFB= kb ééﬁoémd@m
The BIOS identification process Occurs
BIOS %80 [®EcH exiheod

3. %

Memory Chip 1s checked to ensure that they are working properly
008 0T $8me HO BRosD Er8 FNERSR8 HBBobnhHE0d

4. %

Question Number : 143 Question Id : 5915042409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A light sensitive device that Converts drawings, printed text or
other images into digital form 1s
Sgr(Ero, S0Bodd vlorod Sor a8d (DaHod 826S ErHos s
S0 P08 ((r8 H8%80

Options :



Plotter
apedd

1. ®

Scanner
%1?7:65

2.¢

. OMR

OCR

4, %

Question Number : 144 Question Id : 5915042410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A set of information that defines the status of resources allocated
toa process 1s
2% (BB TerowodS $5He D W N0B SErTE S8
Options :

Process Control
. R Zo|&tS

Arithmetic Logic Unit
©¥DAE o°BT e

2. ®



Process Description
BP0 SRS

3.

Control Unit
§ Lol&S°S 0y

4.

Question Number : 145 Question Id : 5915042411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Instructions and Memory addresses are represented by
WRToDH, DO VESeD (@80 $roB
Options :
Character Codes
&5
. 53855 E°8)
Binary Codes
B8 B
2. %
Gray Codes
&8
. B 5§



Parity Bit
L 08 8¢S

Question Number : 146 Question Id : 5915042412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Specialized storage element in the processor unit of a computer which 1s
used as a ““ scratch Pad” during Processing operations 1s
@0R BHHHYD @S FE ™ eIDeN0B SogRied @) (@06 arde &°9
DBEDS PoB Swreso

Options :
Storage register
FOE 625

| % [N €

Primary memory
(2508 s
o

2

Instruction register
Al T
. BS(PES 8225

3



Cache memory

Ser) s
4.« 9

Question Number : 147 Question Id : 5915042413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Compilers and interpreters are themselves
Zopeb), 2065 (Bed) ©ID BEI

Options :

High level Languages
B85S erorES

Codes
S

Mnemonics
O3=QE

Programs
e [gtSO)

Question Number : 148 Question Id : 5915042414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The register which keeps track of the execution of a program and
which contains the memory address of the instruction currently
being executed 1s known as

$BHrH08° ©HoHHR) BTIE Fodd B0 BES D ZOA sotor B

DD oden &% =5 6oF 8236
Options :
Index register
30GE) 8236
1. % ®
Memory address Register
H0d oKD 88HXE
2. % Rl
Program Counter
=
- |&8(rro ZP0eb

Instruction Register

L SI(PES 8BRS

Question Number : 149 Question Id : 5915042415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of these stores more data than a DVD ?
Bod ai)d 588" 98 DVD %08 %) wrerd B30 308 ?

Options :

. CD Rom
1.
- Floppy

. Blue Ray Disk

3.9

Red Ray Disk
&

4.

Question Number : 150 Question Id : 5915042416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Arrange the units of memory — TB, KB, GB, MB m descending order of size
TB, KB, GB, MB 3&8057r08% o8 H588rm0 eprdorr ©d8°:5en

(EHos® X0 &Y.

Options :

| % B > MB > GB > KB

., MB>GB>1B > KB

2.



. TB>GB >MB > KB

3.

,« GB>MB>KB>TB



